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Date: 8.0CT.2015 08:05:02

Time of First Pulse — Advertising Mode = 2.004008 ms
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Time of Second Pulse — Advertising Mode — 2.004008 ms
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Time of Third Pulse — Advertising Mode — 2.004008 ms
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Center 2.44 GHz 25 ms/
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Number of Pulses in worst case 100 ms — Advertising Mode = 3
Total On Time = 3*2.004008 ms = 6.012024 ms
Total Duty Cycle = 6.012024 %



& RBW 1 MHz  RF Att 0 dB
é‘ Ref Lvl VBW 3 MHz

72 dByV SWT 250 ms unit dBaVv

Z2A QL ADN/
7 o O

ke |
=g = L= 1A

TI‘\

a0

30—

o SRFT UL | PP " TAENEPPY NP VI IRV | FPYWP.Y. N IV SRR X A WY VR W S N V11 . O N7 WY PP 0N NV W L 1L (PR T VI ANV L

Center 2.44 GHz 25 ms/

Date: 8.0CT.2015 07:54:53

Time of First Pulse — Pairing Mode = 2.004008 ms
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Center 2.44 GHz 25 ms/

Date: 8.0CT.2015 07:55:13

Time of Second Pulse — Pairing Mode — 2.505010 ms
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Time of Third Pulse — Pairing Mode — 2.505010 ms
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Number of Pulses in worst case 100 ms — Pairing Mode = 3
Total On Time =2.004008 ms + 2.505010 ms + 2.505010 ms = 7.014028 ms
Total Duty Cycle = 7.014028 %



